

Report problem

- **Mandatory:**
Do the exercise for Lecture 11 (attached below).
- If you wish, you may also do some of the exercises listed on the course website

<https://member.ipmu.jp/kentaro.hori/Courses/QFTII/>

or create your own problems and solve them.

Submit your report via ITC-LMS.

Deadline: January 14, 2024

Computation of the one-loop integrals

We would like to compute regularized versions of

$$I = \int \frac{d^4 k}{(2\pi)^4} \frac{1}{k^2 + m^2}$$

$$V = \int \frac{d^4 k}{(2\pi)^4} \frac{1}{k^2 + m^2} \frac{1}{(k-p)^2 + m^2}$$

that appear in  and , for

① momentum cut-off

$$\frac{1}{k^2 + m^2} = \int_0^\infty d\alpha e^{-\alpha(k^2 + m^2)}$$
$$\rightarrow \int_{\frac{1}{\Lambda^2}}^\infty d\alpha e^{-\alpha(k^2 + m^2)} = \frac{e^{-\frac{k^2 + m^2}{\Lambda^2}}}{k^2 + m^2}$$

and

③ dimensional regularization: $4 \mapsto d = 4 - \epsilon$.

Exercise: Do the computation.

(Option 1) Explain the steps marked ! in the following.

(Option 2) Do it in your own way.

$$I_{\textcircled{1}} = \int \frac{d^4 k}{(2\pi)^4} \int_{1/\Lambda^2}^{\infty} d\alpha e^{-\alpha(k^2+m^2)}$$

$$\stackrel{\blacktriangledown}{=} \int_{1/\Lambda^2}^{\infty} d\alpha \frac{e^{-\alpha m^2}}{(4\pi)^2 \alpha^2}$$

$$\stackrel{\blacktriangledown}{=} \frac{1}{(4\pi)^2} \left[\Lambda^2 - m^2 \left(\log\left(\frac{\Lambda^2}{m^2}\right) + 1 - \gamma \right) + m^2 O\left(\frac{m^2}{\Lambda^2}\right) \right].$$

$$I_{\textcircled{3}} = M_{\text{DR}}^{4-d} \int \frac{d^d k}{(2\pi)^d} \frac{1}{k^2+m^2} = M_{\text{DR}}^{4-d} \frac{\text{Vol}(S^{d-1})}{2(2\pi)^d} \int_0^{\infty} (k^2)^{\frac{d}{2}-1} dk^2 \frac{1}{k^2+m^2}$$

$$\stackrel{\blacktriangledown}{=} \frac{M_{\text{DR}}^{4-d} m^{d-2}}{(4\pi)^{d/2} \Gamma(d/2)} \mathcal{B}\left(\frac{d}{2}, 1-\frac{d}{2}\right) = \Gamma\left(\frac{d}{2}\right) \Gamma\left(1-\frac{d}{2}\right)$$

$$= m^2 \left(\frac{M_{\text{DR}}}{m}\right)^{4-d} \frac{1}{(4\pi)^{d/2}} \Gamma\left(1-\frac{d}{2}\right)$$

$d=4-\epsilon$

$$\stackrel{\blacktriangledown}{=} -\frac{m^2}{(4\pi)^2} \left[\frac{2}{\epsilon} + \log\left(\frac{4\pi M_{\text{DR}}^2}{m^2}\right) + 1 - \gamma + O(\epsilon) \right].$$

$$V_{(1)} = \int \frac{d^4 k}{(2\pi)^4} \int_{1/\Lambda^2}^{\infty} \int_{1/\Lambda^2}^{\infty} d\alpha d\beta e^{-\alpha(k^2+m^2) - \beta((k-p)^2+m^2)}$$

$$\stackrel{\text{!}}{=} \frac{1}{(4\pi)^2} \int_{1/\Lambda^2}^{\infty} \int_{1/\Lambda^2}^{\infty} \frac{d\alpha d\beta}{(\alpha+\beta)^2} e^{-\frac{\alpha\beta}{\alpha+\beta} p^2 - (\alpha+\beta)m^2}$$

insert $1 = \int_{2/\Lambda^2}^{\infty} d\lambda \delta(\lambda - \alpha - \beta)$ & substitute $\alpha \rightarrow \lambda x, \beta \rightarrow \lambda y$

$$= \frac{1}{(4\pi)^2} \int_{2/\Lambda^2}^{\infty} d\lambda \int_{1/\lambda\Lambda^2}^{\infty} \int_{1/\lambda\Lambda^2}^{\infty} \frac{dx dy}{(x+y)^2} e^{-\lambda \left(\frac{xy}{x+y} p^2 + (x+y)m^2 \right)} \underbrace{\delta(\lambda(1-x-y))}_{\frac{1}{\lambda} \delta(1-x-y)}$$

$$= \frac{1}{(4\pi)^2} \int_{2/\Lambda^2}^{\infty} \frac{d\lambda}{\lambda} \int_{1/\lambda\Lambda^2}^{1-1/\lambda\Lambda^2} dx e^{-\lambda(x(1-x)p^2 + m^2)}$$

$\underbrace{\int_0^1 - 2 \int_0^{1/\lambda\Lambda^2}}_{\substack{x \\ y}}$

$$= X - 2Y.$$

$$X = \frac{1}{(4\pi)^2} \int_{2/\Lambda^2}^{\infty} \frac{d\lambda}{\lambda} \int_0^1 dx e^{-\lambda(x(1-x)p^2 + m^2)}$$

$$\stackrel{\text{!}}{=} \frac{1}{(4\pi)^2} \left[\log\left(\frac{\Lambda^2}{2m^2}\right) - \gamma - \int_0^1 dx \log\left(1 + x(1-x)\frac{p^2}{m^2}\right) + O\left(\frac{p^2}{\Lambda^2}, \frac{m^4}{\Lambda^2}\right) \right].$$

$$Y = \frac{1}{(4\pi)^2} \int_{2/\Lambda^2}^{\infty} \frac{d\lambda}{\lambda} \int_0^{1/\lambda\Lambda^2} dx e^{-\lambda(x(1-x)p^2 + m^2)}$$

$$\left[0 \leq \lambda x \leq \frac{1}{\Lambda^2} \Rightarrow e^{-\lambda(x(1-x)p^2 + m^2)} = e^{-\lambda m^2} \left(1 + O\left(\frac{p^2}{\Lambda^2}\right)\right)\right]$$

$$= \frac{1}{(4\pi)^2} \int_{2/\Lambda^2}^{\infty} \frac{d\lambda}{\lambda} \frac{1}{\lambda\Lambda^2} e^{-\lambda m^2} \left(1 + O\left(\frac{p^2}{\Lambda^2}\right)\right)$$

$$= \frac{1}{(4\pi)^2} \left(\frac{1}{2} + O\left(\frac{m^2}{\Lambda^2}, \frac{p^2}{\Lambda^2}\right)\right).$$

$$\therefore V_0 = X - 2Y$$

$$= \frac{1}{(4\pi)^2} \left(\log\left(\frac{\Lambda^2}{2m^2}\right) - \gamma - 1 - \int_0^1 dx \log\left(1 + x(1-x)\frac{p^2}{m^2}\right) + O\left(\frac{p^2}{\Lambda^2}, \frac{m^2}{\Lambda^2}\right) \right).$$

$$V_3 = M_{DR}^{4-d} \int \frac{d^d k}{(2\pi)^d} \frac{1}{k^2 + m^2} \frac{1}{(k-p)^2 + m^2}$$

$$\stackrel{\text{!}}{=} M_{DR}^{4-d} \int \frac{d^d k'}{(2\pi)^d} \int_0^1 \frac{dx}{\underbrace{(k'^2 + x(1-x)p^2 + m^2)}_{\equiv \Delta}}^2$$

$$\stackrel{\text{!}}{=} \frac{M_{DR}^{4-d}}{(4\pi)^{d/2} \Gamma(d/2)} \int_0^1 dx \Delta^{\frac{d}{2}-2} \mathbf{B}\left(\frac{d}{2}, 2-\frac{d}{2}\right) = \Gamma\left(\frac{d}{2}\right) \Gamma\left(2-\frac{d}{2}\right)$$

$$= \frac{\mu_{DR}^{4-d}}{(4\pi)^{d/2}} \Gamma(2-\frac{d}{2}) \int_0^1 dx \Delta^{\frac{d}{2}-2}$$

$$d=4-\epsilon \rightarrow \stackrel{\blacktriangledown}{=} \frac{1}{(4\pi)^2} \left[\frac{2}{\epsilon} - \gamma - \int_0^1 dx \log\left(\frac{\Delta}{4\pi\mu_{DR}^2}\right) + O(\epsilon) \right]$$

$$= \frac{1}{(4\pi)^2} \left[\frac{2}{\epsilon} + \log\left(\frac{4\pi\mu_{DR}^2}{m^2}\right) - \gamma - \int_0^1 dx \log\left(1+x(1-x)\frac{p^2}{m^2}\right) + O(\epsilon) \right]$$

You may use

$$\cdot \int_{\epsilon}^{\infty} \frac{dt}{t} e^{-t} = -\log \epsilon - \gamma + O(\epsilon)$$

$$\cdot B(p, q) = \int_0^{\infty} \frac{y^{p-1} dy}{(1+y)^{p+q}} = \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)}$$

$$\cdot \Gamma(n+1) = n! \text{ for } n=0, 1, 2, \dots$$

$$\Gamma(z) = \frac{1}{z} - \gamma + O(z) \text{ as } z \rightarrow 0$$

$$\Gamma(-1+z) = -\frac{1}{z} + \gamma - 1 + O(z) \text{ as } z \rightarrow 0$$

$$\cdot \frac{1}{AB} = \int_0^1 \frac{dx}{(xA+(1-x)B)^2}$$

Determination of the one-loop counter terms

We have determined the one loop counter terms of $4d \phi^4$ theory,

$a_1(\Lambda)$, $b_1(\Lambda)$, $c_1(\Lambda)$ for momentum cutoff

$a_1(\epsilon)$, $b_1(\epsilon)$, $c_1(\epsilon)$ for dimensional regularization

so that on-shell renormalization condition is satisfied.

Do the same for

intermediate renormalization $\left\{ \begin{array}{l} \Gamma(-p, p) \Big|_{p^2=0} = m^2 \\ \frac{d}{dp^2} \Gamma(-p, p) \Big|_{p^2=0} = 1 \\ \Gamma(p_1, \dots, p_4) \Big|_{p_i \cdot p_j = 0} = \lambda \end{array} \right.$

and

"another R.C." $\left\{ \begin{array}{l} \Gamma(-p, p) \Big|_{p^2=\mu^2} = \mu^2 + m^2 \\ \frac{d}{dp^2} \Gamma(-p, p) \Big|_{p^2=\mu^2} = 1 \\ \Gamma(p_1, \dots, p_4) \Big|_{p_i \cdot p_j = \begin{cases} \mu^2 & i=j \\ -\mu^2/3 & i \neq j \end{cases}} = \lambda \end{array} \right.$